TEST Tororrow !

TRKE THIS viome TowrenT FoR fuRtee Reviews:

Multiplication (Vertical) © Name: - e, Vo
‘Solve each problem. ANsSwers
1) 2,987 .2 4,920
X 54 x 51 L.
2.
3.
{| 4.
=l Dividing Whole Numbers _ 5.
Solve each problem. Round to the +e|'\‘\"/\$ P\a. ce. . |
oy o Y.) 6
ef83as 392,106

Finding Solutions —> O.SE R.O.D.&

Solve each probiem.
SQ_) A coat manufacturer puts 431 coats in a shipment. If they sent out 80 shipments, how many
'EOEtS Wou-ld t_heyfhave sent QEt}'"'_'_f:‘f_"Q"_: = o S R

6) A movie theater sells 319 buckets of popcorn a day. If each bucket has 55 pieces of
popeorn in it, how many pieces do they sell in a day? _




= Expanded Notation to Numeric Form with Decimals  Name:

Convert each problem to numeric notation.
Ex) 6x 100+ 8x 10+9+ (8% Vg) + (5% Yp ) + (4 X Vigag)

1) TxI0+9+(6X )
2) TXI0+2+(5% V) +(6% Y0)

3) 1><1;oo+.-2,>'<‘_10+5+(8x‘/m)+(2><‘/m)

= Rounding Decimals

R

Round each pumber to the correct place value.

. .

- 4) Round to the nearest hundredth, 255,111 . .

Answers

b 6BU.854

) Rownd 13 e nearest tench 3666627

&) Round to the nearest hundredthi. 9171327

Examinjng Digit Place Values

Compare the values of each of the digits.

1) 962.69
_ The 6 in the tens place is._ the value of the 6 in the tenths place. -~
8) 9,443.2 .
The 4 in the tens place is the value of the 4 in the hundreds place.
Tq) 54.45 - -
The 5 in the tens place is the value of the 5 in the hundredths place.

ot Ordering Decimal Numbers |

T

Order the numbers from least to greatest.

Ex) A.69.885 V) A.73.684 \l) A.73.519
B.69.139 B.73.4 B. 73.43
C.69.964 - C.73.422 C.74
D.69.942 D.73 D.73.326

Answers

IEx. Eaﬁvﬂaﬂ |

§o




Adding & Subtracting Decimals Name:

Solve each problem.

1) 27-24.53=

2) 66.18+31.183 =

3) - 76.13 - 62.664 =

j Placing Decimals with Multiplication Name!
Determine the placement of the decimal in each product.
K L5809 x.7.8.= 4 5 3 1 0 2 \
"Il [ _ Count the quantity of numbers to the right of the - T A the amoants logether. Your answer
decimal for each Tactor, s should have the same quantity of numbers
_ to the right of the decimal.
5800 has 3 numbers right of the decimal (5.809) 34124
+ 1=

= 8 has 1 number right of the decimal (7.8 .
1as 1 num er right of the decimal ( ——}. 5089(3) % 78(D = 453102 (4)

el

»>—

v&so notice that 5 x 7=35and 6 x 8 = 48 , 50 5.809 x 7.8 will be a more than 35 but less than 48.

J

1) 2%526= 10 5 2
g) 7ix215= 1 5265
3 5222x563= 2 9 3 9 9 86

g o\\'j_e__"._;‘;gho o A \Wee <«

7 7.6 % 23 8z X8

Q) 25,76+ 7T o) 5THG.>

10.

Answers




Understanding Exponents Name:

Rewrite the number as a multiplication problem. Answers
1) 73 . '
. L.
2) §3
3) 52 - 2,
Rewrite the multiplication problem in exponential notation. - - 3,
W) 6x6x6%6
4.
B) 2x2x2
- 8 3x3 5.
. |
, , : 6.
. Deétermine the first expression to evaluate in each problem. Answers
e Stepzifg};thes_ls_(_ ) | _ First solve any expressidns in parenthesis. o \ Ex. - 2_7-5"9
Step 2: Exponents 2} Next solve any expressions that have exponents. A'
) . \
Step 3: Multiply or Divide x,+ Then solve multiplication or division expressions i
(going from left to right).
Step 4: Add or Subtract +,- Finally solve addition or subtraction expressions R,

' (going from left to right). .
o et g PN

Ex) 10+27+9+9%5 | ‘ .
_ t
‘_"7_) 3 *_(_*5;'4:8 3 :]:—1—0 ?6_—“-774““”".- __ . - __ T : \'l ra—
. !
8) (2+14+7)-2+3
D 9+4+32:4+4 - 5
11"
= Using Order of Operations
Evaluate each expression. | 312
18)  (5x2+10°)+10+7 W 10+(4+8%)x2+3 ;
. |
21
5



— Finding Least Common Multiple Name: Answer Key
Find the least common multiple of both numbeys. Answers
4 7
K To find the least common multiple one strategy is to list the muliiples of the numbers. \ LC h Same, *
. 28 1 Ne
4 4 8 12 16 20 24 28 32 36 40 44 48
2.
6 6 12 18 24 30 36 42 . 48 54 60 66 72
Some of the multiptes 4 and 6 have in common are: 12, 24,36 & 48. 3.
&The common multiple that is least is 12. /
] 4,
Ciccle Yhe Fi-odoc.-\' of +he Ywo facloms in Bach Tow. |
Box -&adﬂ cowmiMon MU\'\n‘f\e (‘Gf\A Hhem ol ) ‘
. . : 6.
Whickh nomber is the LCM 7 . .

15 e PRODUCT Hee SAME me e L

D 6 6 12 18 [28] 30 36 42
g 8 16 [24] 32 40 (9 56 64 L
. |
2) 4 4 8 12 16 20 24 28 32 36 40 44 48 ﬁ__ql;
12 12 24 36 48 60 72 8 96 108 120 132 144 |
' T i
: - - ) . i
3H—11 11 22 3344 S5 66 77 88 99 110 121 o
5 -5 10 15 20 25 30 35 40 45 50 55 ]
4 2 2 4 6 8 10 12 14 16 H{
e =624 32 4048 56 64— ||
5 11 11 22 33 44 55 66 77 88 99 110 121 132
12 12 24 36 48 60 72 84 96 108 120 132 144
' | | \
6 6 6 12 18 24730 36742 T T T
92 7 14 21 28 35 42 49
.9 9 18 27 36 45 354 63 72 81
s 5 10 15 20 25 30 35 40 45

I




Express sachnumberasa product of its prime factors.

— Example
40
Method 1 Method 2 Continue dividing by
2140 AD the feast prime factor
. : til the quotient is a
2 ?g /> :rrlirlne r?u?nbel:.E
: 2 . 20
5 / /N
4O =2 X 2X2XD 2 .2 .10 3
2. 2.2. 58
} A0 =2KX2%X2XD_ o
o N
N
10. 54
Method 1 Method 2
_ - 54
o S 2 54 - : - - /& . 7 -
3|27 /2 7—-\
T 2 3 -
. / / AN
BA=2 X3 Xt X 2 .3 e T !
Circle all the prlme numbers in the table o |
S _ L I e
-4 e | 3 Ts e 7T Ts 9 [0 |
- T CD)U H—yda‘ﬁ‘ﬁ— :
12-1-13-1-14 } 15116117 - o 19 | 20| ., B
11 13- 15| -1 18419 20 T O F PM@:’?
o1 | 22 1231 24 {25 | 26| 27 | 28 |29 | 30 TZA@
ypKe PRIME ﬂ‘
31 | 32 133 | 34| 35| 36| 37|38 |39]40 -~ -
| ey For ¥l
41| 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 50° | 28
SN\
59 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60 .
: |4 4 2
61 | 6271 63 | 64 | 65 | 66 | 67 |68 | 69 | 70 ]
/N {
71172173 |74 |75 |76 |77 |78 | 79 | 80 7 ' e
g1 | 82 | 83 | 84 | 85 | 86|87 |88 |89 ]9
91 | 92 | 93 | 94 | 95 | 96| 97 | 98 | 99 | 100




